TRRUEREE = 5 ) o 7 AR 4 RS
. A _ _ iR i, N S i
IR Wit BB | mmean | i T | (b S
devE  |AeiEEE ST ITE (KEETH) IERZH | HV-1| BRRE |PFRK214E9H 28 H 16:32[i[ 17.1] 89| ESE 7.0 980
T |ERi215E9 H 291 16:05 |H 199 46| W 6.8
HV-2| BA#s | FE214E9H 29 H 16:23|i% 191 471 W 8.5 983
T |ERi214E9 H30H 16:10| & 20.0] 51|WNwW| 5.4
HV-3| BA#s [FE214F9H 30 H 16:15 i 20.0] 51|WNwW| 5.4 989
T [FER214E10 A 1H 16:00 [FE 198 64 E 5.4
LV-1| BA#s [FRk214E9H 28 A 16:32[f 17.1] 89| ESE 7.0 0.142
T |ERi215E9H 291 16:23 | 199 46| W 6.8
LV-2| B4 | FEk214-9H 29 H 16:29 1% 189 471 W 8.2 0.143
T |ERi214£9 H30H 16:20| & 19.7 s1lwNw| 84
LV-3| BA#s [FE214F9H 30 H 16:21 i 19.7] s1|wNw| 84 0.144
T [FER214E10H 1H 16:25 K& 195 65 E 41
ALIRETT AL =W o Zk  (FLRT) IEREH | HV-1| Bass |FFRk21429 A 28 14:00[f 16.9] 81| SSE 6.7 988
T |ERi215E9H 291 14:00 W 193] 57| NNW| 75
HV-2| BA#s |FRk214F9H 29 H 14:00 |1 193] 57| NNW]| 75 1,010
T |ERi214£9H30H 14:00| P 223 44/ NNW| 53
HV-3| BA#s [FE214-9H 30 H 14:00 | e 223| 44| NNW| 53 1,000
T [FER214E10H 1H 14:00|= 21.7| 39| SSE 74
LV-1| B#s [FRk214E9H 28 H 14:00[F 16.9] 81| SSE 6.7 0.144
T |ERi215E9 H 29 H 14:00 |H 193] 57| NNW| 75
LV-2| B4 | FEk214E9H 29 H 14:00| 193] 57|NNW| 75 0.146
T |ERi214£9H30H 14:00| P 223| 44| NNW| 53
LV-3| BA#s [ FR214F9H 30 H 14:00 | e 223| 44| NNW| 53 0.146
T [FER214E10H 1H 14:00|= 21.7| 39| SSE 74
AFER [MRAX—5 (FHHE) WEREE [HV-1] BRAG [FR214E9H 281 13:25[/ 13.1] 99| NE 4.0 1,008
T [ER214E9 H 29 H 13:25|= 157 63| WSW| 4.0
HV-2| BA#s |FRk214F9H 29 H 14:23|4 18.1] 52| wsw| 40 1,008
T |ER214E9H30H 14:23|= 158 68/ WSW| 3.0
HV-3| BA#s [ FE214F9H 30 H 14:51 |4 158 68| wsw| 30 1,008
T |ER214£10H 10 14:51 |0 236 35| SSE 4.4
LV-1| BA#s [FRk214E9H 28 A 13:23[/ 13.1] 99| NE 4.0 0.137
T [ER214E9 H 29 H 13:23|= 157 63| WSW| 4.0
LV-2| B4 | FEk214-9H 29 H 13:43|%= 157 63| wsw| 40 0.139
T |ER214E9H30H 13:43|= 16.2| 66/ WSW| 3.0
LV-3| BA#s | FRk214F9H 30 H 13:52|4% 158 66| wsw| 3.0 0.140
T |ERi214E10H 10 13:52|IE 19.1] 50| SSE 44
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
R |EWRAEREE Y X — (&) EREHI | MV | BRAA |PERK219°9H 8H 10:12|%= 253 56 NNW| 35 1,000
2H H |ER214E9H 9 H 8:54|% 20.0/ 55| Nw 4.8
3H B [FRk21459H 10 9:07 M 220 471 W 3.9
4H B |*ER214E9H 111 9:02|% 21.8] 56| WNW| 1.3
5H B [¥Rk21459A 12 H
6H B [FRk21459 13
7H B [FR21459H 14 11:03 (W5 240 50| NE 1.9
T |FER214E9H 15 H 10:12(/NF 189/ 80| S 2.3
LV-1| Bi%g |*FRk214-9H8H 9:03| = 24.8| 69| NwW 11 0.144
T |ER214E9H9H 9:03|= 21.2| 66| NNW| 3.6
LV-2| Bi%s |*FRk214-9H9H 9:10|%& 21.2| 66| NNW| 3.6 0.142
%T [ER214E9H 10H 9:10|= 20.8] 53] w 35
LV-3| BA#s [FE214F9H 10 H 9:15|I% 208 53] w 35 0.149
T |ER214E9H 11 H 9:15|= 215 52| WNwW| 3.6
KR | RSB MREA Y &2 — (L) EREH | MV | BRAA |PERK2199H 4R 10:00|= 235 85] NNE 2.6 990
2H H |ERL214E9H 5 H 10:00 M 26.1| 87| ENE 1.8
3H H |WERL214E9H 6 H 10:00 M 25.2| 81| NE 5.6
4H H [ER2149A7H 10:00 M 25.8| 82| ESE 15
5H H |WER214E9H 8 H 10:00|iN 256/ 97| NE 2.2
6H H |FER214E9H 9 H 10:00|= 235 76| SSE 25
7H B [*FER214E9 10 H 10:00 M 248 79| SSE 1.8
T |ER214E9 H 11 H 10:00 | 235| 58| WNwW| 0.9
LV-1| Bi%s |*FRk21429H 8H 10:00[rH 256/ 97| NE 2.2 0.140
T |ER21I4E9H9H 10:00|= 235| 76| SSE 2.5
LV-2| Bi4s |*FRk214-9H9H 10:00|% 235| 76| SSE 25 0.141
T |ERi214E9H 10H 10:00| & 248 79| SSE 1.8
LV-3| B4 | FE214F9H 10H 10:00 (/& 248 79| SSE 1.8 0.141
T |ERi215E9H 11H 10:00| M 235| 58| WNwW| 0.9
RIS IR (B R ARSI ZEET (RIRG ) TEREW | MV | BR4h |PFRK214E9H 4H 10:20 (% 206 77| wsw| 0.8 1,007
2H H |FERL214E9H 5 H 10:00 M5 249| 64| NNE| 0.8
3H H |FERL214E9H 6 H 10:00 M5 26.4| 53] S 2.0
4H H [ER2149A7H 10:00 | i 259/ 59 S 11
5H H |ERk214E9H 8 H 10:00 | i 283| 56| E 2.3
6H H |ERk214E9H9H 10:00| & 251 37| N 2.8
7H B [Rk21459 10 H 10:00 | i 252 36| N 25
T |ER214E9 H 11 H 10:05 i 238 38| Nw 36
LV-1| Bi%s |*FRk21429H7H 10:00 | PR 259 59 S 11 0.139
T |ERi214E9H 8 H 10:02 |ehd 283| 56| E 2.3
LV-2| Bi4gs |*FRk214-9H8H 10:15| e 283| 56| E 2.3 0.138
T |ER2149H9H 9:12 |5 247 37| NNwW| 33
LV-3| Bits |*FRk214-9H9H 9:15(i& 247 37| NNW| 3.3 0.144
T |FER214E9H 10H 9:15 | 242 39| N 3.3
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E =t =
PN 0 BREE | mmeeaa | % o Ty | vices
TIER | R IR — A R R E R (R ) R [HV-1] BRAG [FR214E9H 29 10:00|= | EH 2% 994
T |ER214E9H30H 9:40| N 222 82| NE
HV-2| Bts |*F-a214F9H 30 H 10:00(/ S| e % 997
%T [ER214E10H 1H 10:00(= 19.7 87| NE
HV-3| Bitg |*Fak214F10H 1H 10:00|% S| SEH| % 998
T [FER214E10H 2 H 9:45|= 21.0| 80| calm
LV-1| B#s [FRk214E9H 29 A 10:00| %= S| S| k% 0.143
T |ER214E9H30H 9:51|rN 222 82| NE
LV-2| B4 | FE214F9H 30 H 10:00([ S| e % 0.143
%T [ER214E10 A 1H 9:52|= 19.7 87| NE
LV-3| BA#s [FE214F10A 1H 10:00|% S| e % 0.143
T [FER214E10H 2 H 9:52|= 21.0| 80| calm
WHAD |RRHEBRER AT (LIRX) IREEH | MV | BAtE |*FRk214-9H9H 10:10|/ 228 70| S 1,012
2H B [¥Rk21459 10 10:10 | rehi 316/ 29| NNW
3H B [FRk2149A 11 H 10:00 (= 29.2| 38| NNW
4H B |*FR214E9H 121 10:02|iN 225 82| WNw
5H B [¥Rk21459 7 13 10:00| = 235 72| SsSw
6H B [FRk21459 14 10:10 (M 31.0| 44| ENE
7H B [F¥Rk2149 A 151 10:00| = 23.1| 70| NE
T |FER214E9H 16 H 10:01|= 306/ 48] N
LV-1| Bi%g |*FRk214-9H9H 10:23[/ 228| 70] S 0.143
T | ERi214E9H 10H 10:12| Pk 31.6] 29| NNW
LV-2| BA#s | FE214F9H 10H 10:18 | 31.6] 29| NNW 0.149
T [ER214E9H 11H 10:00|= 29.2| 38[ NNW
LV-3| BA#s [FE214F9H 11 H 10:06|% 29.2|  38[ NNW 0.145
T |FER214E9H 12 H 10:06 |’ 225 82 WNwW
TN RA IRIEEH | MV | BRE |*FAK214F9H 26 H 9:55| & 277 71 sw 1,014
2H B [¥Rk2149 A 27H 10:00 (= 26.0/ 93| NNE
3H B [FRk21459 28 H 9:50|% 272 92| wNw
4H B |*FR214£9H 29 H 9:57 |l 278 83| Nw
5H B [¥R21459A 30 H 9:56|4% 274 86| NwW
6H B [FRk21410H1H 9:56|%% 272 90 NNW
7H B [FRk21410H 2R 9:41 M 28.0/ 84| NE
T |FER214E10 A 3H 9:56|= 278 82| sw
LV-1| B#gs [FRk214E9H 26 A 10:00(1% 2771 71 sw 0.147
T |ER214E9H 27 H 9:56(= 26.0] 93| NNE
LV-2| BA#s [FE214F9H 27 H 10:02|%= 26.0] 93] NNE 0.140
T [ER214E9 H 28 H 9:55|= 27.2| 92 WNW
LV-3| Bt [FEk214-9H 28 H 9:57|%& 272 92 WNw 0.145
ST |FER214E9 H 29 H 9:55 | 27.8| 83| NW
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SERRUEE T =2 Y o 7 AR BUE ) KA
A V=3=! YA {F N - R=N
IR R BB | mmean | % T | s | S
WA [MEREER S v ¥ — (CEEm) IEREH | HV-1| Bass |FFRk21429 A 28 10:00] 4% 247 61 NNW]| 0.7 1,008
T |ER214E9H 29 H 10:00|= 22.6| 75| NNE 0.8
HV-2| Bt |*F-a214F9H 29 H 10:10|% 226| 75| NNE| 0.8 1,008
T [ER214E9H30H 10:10(’ 19.7 88| NE 05
HV-3| Bits |*F-ak214F9H 30 H 10:20(r 19.7] 88| NE 0.5 1,008
T |ER214E10H 10 10:20| M 231 60| NNE| 1.6
LV-1| B#s [FEk214E9H 29 A 10:00| %= 226| 75/ NNE| 0.8 0.142
T |ER214E9 H 30 H 10:00(FY 19.7 88| NE 05
LV-2| B4 [ FE214F9H 30 H 10:00(r 19.7] 88| NE 0.5 0.144
T |PERi214E10H 1H 10:00| & 23.1| 60| NNE | 1.6
LV-3| B#s [FR214F10A 1H 10:00| i 231 60| NNE| 1.6 0.142
T |FER214E10H 2 H 10:00|F 19.1| 94| ENE 0.8
MEm  (BUEMEREER ST (i) EREH | MV | BRSS |PER2LF29H 251 9:17|i& 25.2]  56] NNE 3.0 1,008
2H B |¥Rk21459H 26 H T 251 55| N 2.7
3H B [¥Rk2149 A 27H = — G 23.2| 69| ENE 2.0
AH B |FH214£9H 28 H Z 0 4 I 23.3| 65| ESE 31
5H B [¥R21459 29 H i —TERR 223 76| N 2.2
6H B [FER214£9H 30 H ] 19.1] 87 N 2.0
7H B [¥R21410H 1R i 1 2 A 21.7| 69| NNE| 25
T |FER214E10 A 2 H 9:12| Ny —Hpe 189 91| N 2.3
LV-1| BA#s [FRk214E9H 29 A 9:28| = — 5[ 223 76| N 2.2 0.143
T |ER214E9H30H 9:27|r/N 19.1 87 N 2.0
LV-2| B4 | FE214F9H 30 H 9:34|[y 19.1] 87 N 2.0 0.145
T [ER214E10A 1H 9:30 |5 2 = 21.7| 69 NNE 2.5
LV-3| B4 [FE214F10A 1H 9:35 | e 2 2= 217 69 NNE | 25 0.144
T |FER214E10H 2 H 9:32|F —Kf= 189/ 91| N 2.3
PR IR —RBERERKBER  (Fris) IERZH | HV-1| BAsg |PFRK214E9H 28 H 10:32|/NfiY 245 60] ESE 37 971
T |ER214E9 H 29 H 10:00|= 240 76| NW 11
HV-2| Bts |*F-a214F9H 29 H 10:13|4% 227 76| Nw 11 984
T [ER214E9H30H 10:00|= 223| 66| NE 11
HV-3| Bits |*F-ak21479H 30 H 10:12|4 245 66| NE 11 984
T [FER214E10H 1H 10:00| i 249| 60| NW 1.2
LV-1| BA#s [FRk214E9H 28 A 10:30(/INFiY 245| 60| ESE 3.7 0.140
T |ER214E9 H 29 H 10:00|= 240 76| NW 11
LV-2| B4 [ FEk214-9H 29 H 10:13|%= 227 76| Nw 11 0.144
% T |ER21429H30H 10:01|= 22.3| 66| NE 11
LV-3| B4 [FE214F9H 30 H 10:13|%= 245| 66| NE 11 0.145
T |ER214E10H 1H 10:00| & 249 60[ Nw 1.2
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SRR T =4 U v 7 i R S P
- A _ _ /:‘:Ell b ’E > j(/; A %
i R BB | mmean | % T | (b S
LB | —ERERSBER @) IEREH | HV-1| BEss [TFR2149HTH 10:12 (W% 30.0f B53[NNW]| 1.3 964
T |ER214E9 A 8H 10:02 | =5 —KFRN 23.7| 78| ENE 17
HV-2| Bits |*FRrk214-9H 8H 10:32 =5 —RFRR 24.7| 73| ENE 1.7 978
ST |ER21I4E9H9H 10:22|%=—FFrR 23.8| 49| NwW 1.6
HV-3| BA#s [FR214E9H9H 10:50|2 — [N 241  47] Nw 16 987
T |FER214E9H 10H 10:40| =~ i 240 53| wsw| 34
LV-1| BRAE [*ER214F9HT7H 10:25 (1% 30.0f B53[NNW]| 1.3 0.140
T |ER2149 A 8H 10:36 | =5 —IFRY 23.7| 78| ENE 17
LV-2| Bass |ER214E9H 81 10:47 |25l — e Rl 247 73| ENE 1.7 0.142
T |ER214E9H9H 10:53|%=—FFr 23.8| 49| NwW 1.6
LV-3| Bass [ER214E9H 91 10:59 | = — Ry 241  47] Nw 16 0.142
T |FER214E9H 10H 10:59| = & i 240 53| wsw| 34
AR (AR REREEE 2 — (&IR0) R [HV-1] BAG [FR214E9H 151 9:42[fy 204 71 ssw | 6.0 1,008
ST |ER214E9H 16 H 9:42|= 226| 57| NE 2.0
HV-2| Bass |ER214E9H 16 0 10:18|% 224 57| NE 2.0 1,008
T |PER215E9H 1T H 10:18|M& 22.6| 44| ENE 5.0
HV-3| BA#s [FE214F9H 17 H 10:40 |1 225| 41| ENE | 4.0 1,008
T |FER214E9 H 18 H 10:40 K& 245 52 N 2.0
LV-1| B4 [FE214E9H 151 9:55([y 204 71 Ssw | 6.0 0.144
T |ER214E9H 16 H 9:55(= 226| 57| NE 2.0
LV-2| BA#s |FEk214F9H 16 H 9:58|% 22.4| 57| NE 2.0 0.144
T |ERi21E9H1TH 9:58|fiif 22.6| 44| ENE 5.0
LV-3| Bt | FE214E9H 17 H 10:00 (/% 22.6| 44| ENE 5.0 0.143
T |ERi214E9H 18H 10:00| & 235 58| ENE 2.0
WHLE |ELHBAARTE (L&A R [HV-1] BRAG [FR214E9H 291 11:35|%= | EB| K% | BB 931
T |ERi214E9H30H 11:50(/ 165 97| NNE| 1.3
HV-2| BA4s [FE214F9H 30 H 12:20(/ RA7S] EA7S] 8 =12 A AT 883
T |PERi215E10H 1H 11:10|M& 148 93 NNE| 1.3
HV-3| BA#s [FR214F10H 1H 10:40 |1 RAZS] 7S] 8= A AT 892
T [FER214E10 A 2 H 11:00|’ 17.0 85| NNE 15
LV-1| BH4s |MER214-9H 29 H 11:35|% S| Y| 5% | 2B 0.133
T |ERi214E9 H30H 11:50(/ 165 97| NNE| 1.3
LV-2 | BH4s |MFER214-9H 30 H 12:20(i R 7S] R3] P A ) 0.128
T |ERi215E10H 1H 11:10|0& 148 93 NNE| 1.3
LV-3| BA4s |PERk214F10H 1H 10:40|i% R 2S] N S] ES P A A ) 0.128
T | FER214E10H 2 H 11:00|F 17.0 85| NNE 15
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
i A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
ERFR | EHIRBRERSMET (BT EREH | MV | BR%S |PER21F29H 291 10:04|fitk = 185 99| ESE 2.3 1,008
2H B |*EH214£9H 30 H 10:04|FHF % 2% 17.9| 89| SSE 0.7
30 A |'FR214£10 H 1H 10:04 | — R 218| 66| W 5.0
4H B [FR214E10H 2 H 10:04 | — W 201 T4 W 5.5
5H B [¥Rk21410H3H 10:04 | =A% 0E 18.3] 83| N 2.3
6H H |WERk214£10 H4 H 10:04 |F5 — e = 18.8| 69| ESE 15
7H B |¥Rk21410H5H 10:04 = 174 71lwsw| 26
T |FER214E10 A6 H 10:04|%=—KF[ 176 76| SwW 24
LV-1| B#s [FRk214E9H 29 A 10:19[/ 185 99| ESE 2.3 0.139
T |ERi214£9 H30H 10:19(iN 17.9] 89| SSE 0.7
LV-2| BA#s [FE214F9H 30 H 10:21|f 17.9] 89| SSE 0.7 0.139
%T [ER214E10 A 1H 10:21 (K& 21.8| 66| W 5.0
LV-3| Bt [FE214F10H 1H 10:23 (i 218 66| w 5.0 0.137
T |FER214E10 A 2 H 10:23|= 20.1] 74| w 5.5
7 B IR iy B IR R BR BRI S0 T (55 ) IERZH | HV-1| BAsg |PFRK214E9H 15 H 10:35| % 249 67| NE 21 1,008
%T |ER214E9H 16 H 10:35 (K& 27.3] 39| NW 3.6
HV-2| BA#s [FEK214F9H 16 H 10:50 |5 273 39| w 5.2 1,008
W%T [ER214E9H 17 H 10:50| i 262 52 S 2.8
HV-3| BA#s [FR214F9H 17 H 11:10|5 26.2| 52| S 24 1,008
T |FER214E9 H 18 H 11:10|= 302 53] N 4.2
LV-1| B#s [FRk214E10H5H 9:15|%= 225 54| E 36 0.145
T |ER214E10 A6 H 9:15|= 199 74| WNwW| 23
LV-2| BA#s | FEk214F10H 6 H 9:18|%= 199  74|wNw| 23 0.145
T [ER214E10A 7TH 9:18|= 196 78] NwW 42
LV-3| BA#s [FEk214-10 A8 H 9:50|%& 216 72| w 9.3 0.143
T |ERi214£10H 91 9:50| fiff 222 42| NwW | 105
AR | TRERYERAR (4 &HET) IREZH | MV | BR%E |*FAK214F9H 28 H 10:48| =14 [ 223] 69| SE 25 1,002
2H B [FRk21459 29 H ] 229 771 N 2.0
3H B [FRk21459H30H Ef] 212 86| N 15
4H B |*FH214£10 411 T I 2 B 224 74| S 19
5H B [FR214£10 H 2 H RN — i 211 85| SE 2.1
6H B [¥Rk21410H3H iy — MR 230 61| NW 41
7H B [FR214510H4 R i 217 47| WNW| 2.6
T |FER214E10 A5 H 10:51| =% If 4 /Y 18.0 65| SE 2.1
LV-1| B#s [FEk214E9H 28 A 11:59| 2% M 215 80| SE 2.1 0.184
T |ER214E9H 29 H 10:48|Mitk = 230] 76| N 2.3
LV-2| B4 [FE214F9H 29 H 10:57|%= 230/ 76| N 2.3 0.157
T [ER214E9H30H 10:17|=Rf % [ 210 86 N 1.0
LV-3| Bt [FE214F9H 30 H 10:20(r 21.0/ 86| N 1.0 0.129
T |ER214£10H 1H 10:10| %= 23.4| 69| SSE 1.8
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SRR T =4 U v 7 i R S P
A Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
=EE | =HEEREERENES (WA T WEBEH [HV-1| BAsG [FRK214E9H 1H 10:27 | i 29.4] 50| NNE | 4.0 1,010
T |ER214E9H 2H 10:30|= 25.0| 77| SSE 1.8
HV-2| Bass [ER214E9H 21 11:05|% 253 77 S 2.3 1,006
T |ER214E9 A 3H 11:05|= 241 719 S 1.3
HV-3| Bass [ER214E9H 31 11:30|% 255 77| sSw 1.4 1,014
# T |PERR21F9H 4H 11:37|= 272) 76| SW 17
LV-1| Bi%g [*FRk214-9H 1H 10:00 | PR 28.1] 50| NNE | 35 0.141
T |ER214E9H 2H 10:00|= 248| 76| SSE 3.0
LV-2| Bass |ER214E9H 21 10:02|%= 24.8| 76| SSE 3.0 0.142
T |ER214E9 A 3H 10:05|= 226| 80| S 1.7
LV-3| Bass [*ER21429H 31 10:05|% 226| 80| S 1.7 0.143
ST |ER21I4E9H 4H 10:12|= 233| 78] s 0.5
FAEE | AR SR i (SR IERZH | HV-1| BAss |PFR214:10H 13H 14:25| % 17.7| 78| SSE 12 1,000
T [ER214E10 5 14 H 14:13|2
HV-2| BA%s [FEK214F-10 A 14 H 14:52|= 16.0| 79| SSE 1.4 996
%7 |SERG214E10H 151 14:33 (K&
HV-3| B4 [FE214-10 A 15H 15:17 i 155 73| SSE 1.2 993
%7 |SERG214E10H 16 H 15:02 K&
LV-1| B4 [FEE214£10 A 13 H 14:27| % 17.8] 77| SSE 1.2 0.149
T |ERk214E10H8 14 H 14:27|=
LV-2| Bass |ER214E10 14 H 14:53|% 16.2| 78| SSE 1.4 0.149
%7 | ERG214E10H 15 H 14:53 (K&
LV-3| BA#s | FR214-10H 15H 15:22 i 155 73| SSE 1.2 0.149
%7 |SERG214E10H 16 H 15:22 K&
KBOF | R B2 K pERS S BF G2 AT (RBRTT) IERZH | HV-1| BRsE |PFRK214E9H 14 H 11:45| % 23.0/ 58| NE 1.4 977
T [ER214E9H 15H 11:02|= 20.8| 77| SE 1.6
HV-2| BA#s [ FEk214F9H 150 11:40|2 20.8| 77| SE 1.6 983
T |ERi215E9H 16 H 11:05| & 22.3| 61| ENE 1.8
HV-3| B4 [FE214F9H 16 H 11:40|i% 22.3| 61| ENE 1.8 962
T |FER21I4E9H 17 H 10:35|KE 233| 56| E 1.9
LV-1| B4 [FEE214E9H 14 H 10:40| % 23.0] 58] NE 1.4 0.144
T [ER214E9H 15H 10:36|= 20.8| 77| SE 16
LV-2| B |ER214E9H 150 10:50|% 20.8| 77| SE 16 0.147
T |ERi215E9H 16 H 11:05| & 22.3| 61| ENE 1.8
LV-3| B4 | FE214F9H 16 H 11:20 (0% 223| 61| ENE 1.8 0.140
ST | ER214E9H 17 H 10:40 [KE 233| 56| E 1.9
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SRR T =4 U v 7 i R S RS
. 7 _ _ S| | KRR
i R BB | mmean | % T | (b S
R [RERREWIEE X — (W) R [HV-1] BAG [FR214E9H 281 10:00( % 252 70| ENE | 9.7 1,008
T |ER214E9H 29 H 10:00|= 24.7| 74| ENE 74
HV-2 | Bass |ERc214E9 29 F 10:13|% 247 74| ENE 7.4 1,008
W% [ER214E9H30H 10:13|’M 219| 90| ENE 6.0
HV-3| BA#s [FR214F9H 30 H 10:55(f 219 90| ENE 6.0 1,008
T |ERi214E10H 1H 10:55|= 243| 74| NE 3.9
LV-1| B4 [FEk214-9H 28 H 9:57|% 25.2| 70| ENE 9.7 0.143
T |ER214E9 H 29 H 9:46|= 24.7| 74| ENE 74
LV-2| Bitg |*Fak214F9H 29 H 9:51|% 247 74| ENE 7.4 0.143
T | FRk21459 H30H 9:38|J 21.9] 90| ENE | 6.0
LV-3| BA#s [FE214F9H 30 H 9:43|[y 219 90| ENE 6.0 0.144
T |ERi214E10H 10 9:43|%%: 243| 74| NE 3.9
MET ([BE - REREXRKMER (AT IERZH | HV-1| BRsE |PFR214E9H 7H 9:55|H5 29.1| 53| ESE 24 967
T |ER2149 A 8H 9:55 M 26.8| 66| SSE 1.7
HV-2| BA#s |FE214F9H 8 H 10:15 i 28.9| 50| NNW| 2.6 977
T |ER214E9H9H 10:15| & 239] 53| NNW| 15
HV-3| BA#s [FR214F9H9H 10:35 |5 25.6| 48| WNW| 3.0 992
T |FER214E9H 10H 10:35| i 23.1] 57| SSE 2.1
LV-1| BA#s [FRk214E9H 28 A 9:28|% 26.6] 64| ENE 34 0.145
ST |ER214E9H 29 H 9:28|= 250 76| WNwW| 1.0
LV-2| B |ERc214E9H 29 F 9:31|%& 241 83| s 0.8 0.144
T |ER214E9H30H 9:31/ [ 215 90| E 11
LV-3| BA#s | FE214F9H 30 H 9:34|/INF 220/ 91| ESE 0.7 0.149
T |ER214E10H 1H 10:19 (W5 244 73| E 2.0
RER [ RE—REFERAKBHEF CREL) R [HV-1] BRG [FR214E9H 281 11:15(/% 238| T2 ENE| 27 1,014
T |ERi215E9 H 291 11:15|H5 239 78 NNW| 1.1
HV-2| BA#s |FRk214F9H 29 H 11:28|i% 239 78| NNW| 1.1 1,011
T |ER214E9H30H 11:28|’M 222 91| N 0.9
HV-3| BA#s [ FE214F9H 30 H 11:49(r 222 91| N 0.9 1,008
T |'PRR214E10H 1H 11:49|= 255) 70| SW 15
LV-1| B#s [FRk21459H 28 A 11:16(1 238] 72| ENE 2.7 0.140
T | ERi215E9 H 29 H 11:02 (W 239 78 NNW| 1.1
LV-2| B4 | FEk214-9H 29 H 11:11 W5 239 78| NNW| 1.1 0.143
T |ER214E9H30H 11:23|M 222 91| N 0.9
LV-3| B [ER214E10 11 11:50|% 255| 70| sSw 15 0.142
T |PERk1FE10H 20 11:38| = —IF [N 244 82|WNW| 0.8

53



SR E T =2 ) v 7R R B KR
A =38 |\ e N =y B
i R BB | mmean | % T | s | S
BRI (ERR RIS e R ERT (BRI 0> 55 HT) IEREH | HV-1| Bass |FFRk214£10H6 13:36]% 20.7] 53] NE 3.8 962
T |ER214E10A 7TH 12:30|= 196/ 63| NE 8.6
HV-2| BA#s [FR214F10H 7H 12:57|= 195 60| NNE| 9.1 966
W“%T [ER214E10 A 8H 12:00|= 189 65/ N 18.1
HV-3| BA#s [FEk214-10 A 8 H 12:30|& 190 62 N 17.2 966
T |ERi214£10H 9H 11:30| M 18.0] 43| NNE | 10.6
LV-1| B4 [FE214E10 A6 H 13:45| % 20.7] 53] NE 38 0.138
T |ER214E10H 7H 12:30|%= 196 63| NE 8.6
LV-2| B4 [ FE214E10A 7H 13:00|% 195 60| NNE| 9.1 0.138
“%T |ER214E10 A 8H 12:00|= 189/ 65/ N 18.1
LV-3| BA#s [FE214F10 A 8H 12:32| %= 190 62 N 17.2 0.138
T |ERi214£10H 91 11:30| M 18.0| 43| NNE | 10.6
UNCT N RVAEEE Sk = i a N ) IRBE (HV-1| Bikg [F2149H 7H 9:58 | PffiFf 28.3] S58[NNW| 1.7 1,008
T |ERi214E9H 8 H 9:58| P 277 46| NNE| 55
HV-2| Bt |*FRk214-9H 8H 10:21 | e 277 46| NNE| 55 1,008
T |ER214E9H9H 10:20| i 246| 54| NNE | 41
HV-3| BRAE [FR214F9H9H 10:35 |1 246| 54| NNE | 4.1 1,008
T |FER214E9H 10H 10:35|KE 242| 44| N 37
LV-1| Bi%g |*FRk21429H7H 10:02| i 28.3] B8 NNW| 1.7 0.139
T | ERi214E9H 8 H 10:02 | i 277 46| NNE| 55
LV-2| BAiE [FR214F9H8H 10:11 |t 277 46| NNE| 55 0.140
T |ER214E9H9H 10:11 | 246| 54| NNE | 41
LV-3| BHiE [EA214F9H9H 10:15|i% 246| 54| NNE | 4.1 0.141
T |FER214E9H 10H 10:15 K& 242 44| N 37
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SERRUEE T =2 U v 7 AR S P
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% “(fffyi
o Lo EEREEREE  ¥ — (lLa T IREEH | MV | BAtE |TFR214F9H 7TH 10:00|F& 27.3] 56| SSE 0.8 1,008
2H H |ERk214E9H 8 H 10:00| & 27.1| 59| NE 0.7
3H H |ERL214E9H 9 H 10:00| & 26.4| 51| NNW| 0.4
4H B |*FR214£9H 101 10:00| = 255 39| ENE 0.7
5H B [FR2149A 11 H 10:00 M 242| 52| NE 0.4
6H B [FRk21459 12 H 10:00|iN 186 88| E 1.4
7H B [¥Rk21459 13 10:00(= 24.8| 60| ESE 0.6
T |TERN214E9H 14 H 10:00|= 229| 64| SE 04
LV-1| B#s [FR214E9HT7H 10:00(1% 27.3] 56| SSE 0.8 0.148
#“wT | ERi214E9H 8 H 10:00| & 27.1| 59| NE 0.7
LV-2| BA#s [FE214F9H 8H 10:00|i 271 59| NE 0.7 0.145
T |ER215E9H9H 10:00| & 26.4| 51| NNW| 0.4
LV-3| Bi%s |*FRk214-9H9H 10:00 |1 26.4| 51| NNW| 0.4 0.145
T |ERG214E9H 10 H 10:00|= 25.5| 39| ENE 0.7
TP LS ST (k) IREEH | MV | BAtE |*FRk214-9H 8H 11:00|= 250 71 N 2.4 1,009
2H H |ERL214E9H 9 H 11:00| = 246/ 59| N 32
3H B [¥R21459A 10 11:00 M 255| B2 NNW| 3.1
4H B |*ER214E9H 111 11:00| %= 27.8| 43| SSE 0.9
5H B [FRk21459 12 H 11:00|iN 186 94| S 1.8
6H B [FRk21459 13 H 11:00 M 250/ 59| N 32
7H B [ERk2149 14 11:00( = 256/ 58] N 1.3
T |ER214E9H 15 H 11:00|= 224 72| NNW| 1.0
LV-1| BH#s [ERk214E9H 8H 11:00] 4% 250 71] N 24 0.149
T |ER21I4E9H9H 11:00|= 246| 59 N 3.2
LV-2| Bi4s |*FRk214-9H9H 11:00|4% 246/ 59| N 3.2 0.143
T |ERi214E9H 10H 11:00| M 255| B2 NNW| 3.1
LV-3| BA#s | FE214F9H 10H 11:00 (/% 255| B2 NNW| 3.1 0.143
T |ERG21I4E9H 11H 11:00|= 27.8| 43| SSE 0.9
SR | RAEEREY ¥ — (BT IR |HV-1| Bts |SFAk214E9H 28 H 10:14|/ 23.7| 89| ESE 1.8 1,007
T |SER214E9H 29 H 10:14|= 26.3| 74| N 1.4
HV-2| Bts |*F-ak214F9H 29 H 10:57 |4 263 74| N 1.4 1,006
%7 |SERN214E9H 30 H 10:57 |’ 219] 90/ NNW| 25
HV-3| BA#s [FRk214F9H 30 H 11:33[/ 218/ 91| N 1.9 1,008
%7 O|ERG21I4E10H 1H 11:33|= 25.3| 71| ESE 3.1
LV-1| BA#s [FRk214F9H 28 A 10:14[r 23.7| 89| ESE 18 0.142
T |SERN214E9H 29 H 10:14|= 26.3| 74| N 1.4
LV-2| Bk [FE214F9H 29 H 10:57 |4 263 74| N 1.4 0.143
%7 |SERN214E9H 30 H 10:57 | 219] 90/ NNW| 25
LV-3| Bt [FE214F9H 30 H 11:33|/ 218/ 91| N 1.9 0.144
T |ERG214E10H 1H 11:33|= 25.3| 71| ESE 3.1
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
FINE [FNREREFERITE (B EREH | MV | BR%S |PER21F9H 10H 12:05(1& 229] 54| SSE 1.7 1,008
2H B |*ER21F9H 11H &I 239/ 58| SSE 15
3H B [FRk2149A 12 =B 214 80[NNW| 27
4H B [FR214E9H 13 H FIRF % 238| 62|NNW| 21
5H B |*FR2199H 14 H ey 2 iif 227 68 E 20
6H H |WERk214E9H 15 H Mtk = 21.6| 80| SSE 1.3
7H B [FRk21459 16 H i 1 IR 2 A2 220 64| N 2.0
T | ER21E9H 1T H 12:05 i 21.7| 60| SSE 1.9
LV-1| B#s [FEk214E9H 100 12:03 (1% 229 54| SSE 17 0.141
T [ER214E9H 11H 12:03| = —IFhiG 239| 58| SSE 15
LV-2| BA#s [FE214F9H 11H 12:05| 2= — Mg 23.9| 58| SSE 15 0.143
W% [ER214E9H 12 H 12:23| =% [ 214 80[NNW| 2.7
LV-3| B#s [FE214F9H 12 0 12:27| 2% 21.4| 80| NNW| 2.7 0.143
T |FER214E9 H 13 H 12:26 |y 2 = 238| 62| NNW| 21
Cet RS FINRSIRE KK 7 —0 (B EREH | MV | BRSS |PER21F9H 10H 11:31(0& 229 54] ssw 1.7 1,008
) ) 2H H |FER214E9H 11 H =P 239 58] ssw 15
3H H |FER214E9H 12 H E=HH 214 80 s 2.7
4H H |WER214E9H 13 H & = 238 62| N 21
5H B |*FE2149H 14 H ey 2 fiif 22.7| 68| SSW | 20
6H H |FR214£9H 15 H BT 216| 80| SSW | 13
7H B |'FR214£9 A 16 H W5 1% IR 2 2 220] 64| NNE| 20
T | ER21E9H 1T H 11:31 (W5 21.7| 60| NNE | 1.9
LV-1| B#s [FRk214E9H 100 11:24 (1% 229 54 ssw | 1.7 0.143
T [ER214E9H 11H 11:24| = —IFliG 239 58] ssw 15
LV-2| BA#s [FE214F9H 11H 11:38| = — e 239| 58] ssw| 15 0.142
T [ER214E9H 12 H 11:38| =14 [ 214 80 S 2.7
LV-3| Bt [ FEk214F9H 12 H 11:42| 2% 214 80| S 2.7 0.143
T |FER214E9 H 13 H 11:41 |5 2 = 238| 62| N 2.1
g |EIR R TR (ST R [HV-1] BRAG [FR214E9H 291 12:37| % 305/ 59| WNwW| 3.8 1,008
T [ER214E9H30H 12:37|= 28.3| 66| W 2.1
HV-2| BA#s [FR214-9H 30 H 13:18|%= 29.1] 65 w 3.7 1,008
T [ER214E10 A 1H 13:18|’M 20.1] 61| w 35
HV-3| Bt |*F-a214F10H 1H 13:51(f 295 59| w 35 1,008
T |ER214E10 A 2 H 13:51 |’ 27.8| 80| SSE 33
LV-1| BA#gs [FEk214E9H 29 A 12:42| % 305 59| WNwW| 3.8 0.142
% T |ER21429H30H 12:42|%= 28.3| 66| W 2.1
LV-2| BA#s [FE214F9H 30 H 13:15|% 29.1] 65| w 3.7 0.144
%T [ER214E10 A 1H 13:15|’M 20.1] 61| w 35
LV-3| Bt [FE214F10H 1H 13:49(/ 295/ 59 w 35 0.144
T |FER214E10 A 2 H 13:49|F 27.8| 80| SSE 33
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
fE b [RApmEm&ErT (KAE|T) B [HV-1] BAG [FR214E10H5H 10:10| = 20.9] 73] WN 1.2 1,008
W% |ER214E10 A6 H 10:10| =12 /Y 21.8| 96| NE 1.6
HV-2| BA#s | FE214F10 A6 H 10:18| =% /Y 21.8| 96| NE 16 1,008
W%T [ER214E10A 7H 10:18|= 180 83 N 4.2
HV-3| BA#s [FR214F10H 7 H 10:32| %= 180 88| N 42 1,008
% |FER214E10 A8 H 10:32|= 200 75 N 6.0
LV-1| B#s [FRk214E10H5H 10:16| %= 209 73] WN 1.2 0.144
W% |ER214E10 A6 H 10:16| =12 /Y 21.8| 96| NE 1.6
LV-2| B4 [ FE214F10H 7H 10:21|% 180 88| N 42 0.144
“%T |FER214E10A8H 10:21|= 200 75| N 6.0
LV-3| B4 [FE214-10 A8 H 10:31|%= 2000 75| N 6.0 0.145
T [FER214E10 H9H 10:31|= 205 72 N 3.0
Peg IR (e RBREEE v 2 — (B Th) IRIEHT | MV | Bifs | TFRk214F9H8H 9:56|iF 280] 63] N 36| 1,008
2H H |ER214E9H 9 H 9:56 | fiff 296/ 44 NNE| 23
3H B [FH214£9H 10 9:56 i 282 41| NE 1.8
A4H B |*ER214E9H 111 9:56 |l 28.2| 46| ESE 1.3
5H B [FR2149A 12 H 9:56|4 211 92[ Nw 3.8
6H B [FRk21459 13 9:56 /i 25.6| 61| Ssw | 1.2
7H B [FRk21459 A 14 9:56|% 26.2| 59| ENE 16
T |ERi214E9H 151 9:56|% 283| 55| E 1.2
LV-1| BRAE [ERK214F9H8H 9:55(IF 280 63] N 3.6 0.143
T | ERi215E9H9H 9:55| fif 296/ 44 NNE| 2.3
LV-2 | BHiE [ER214F9H9H 10:02 1% 29.1| 44| NNE| 23 0.144
T |PERi214E9H 10H 10:02| & 28.1| 45| NE 1.8
LV-3| B4 [FE214F9H 10 H 10:06 |1 28.1| 45| NE 1.8 0.141
T | ER214E9 H 11 H 10:06| & 28.0| 47| ESE 1.3
REARIL  |REARIRREBREER FIF e (L) IERZH | HV-1| BAsE |PFRK214E9H 28 H 11:52|= 30.5] 86] NNE 0.9 973
T |ER214E9H 29 H 11:52|= 284 73] NW 3.3
HV-2| Bts |*F-a214F9H 29 H 13:00| 4% 26.8] 75| Nw 2.9 987
T [ER214E9H30H 13:00(’ 25.2| 87| NW 39
HV-3| Bitg |*F-a21479H 30 H 13:40(f 238 92| WNW| 2.9 987
T |ER214E10H 10 13:40|M& 29.0/ 65] Nw 2.4
LV-1| BA#s [FRk214E9H 28 A 11:48| % 305/ 86| NNE| 0.9 0.141
T |ER214E9 H 29 H 11:48|= 284 73] NW 3.3
LV-2| B4 [ FEk214-9H 29 H 11:58|% 28.4| 73] Nw 3.3 0.142
% T |ER21429H30H 11:58|’ 255 80| NW 1.9
LV-3| BA#s [FE214F9H 30 H 12:20(f 255 80[ Nw 1.9 0.142
T |ERi21410H 10 12:20| & 30.00 57| NNW| 28
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SRR T =4 U v 7 i R S P
A =98 N=Wi:a N S L B
IR A BB | mmean | R - ‘”(E%/% A (kan% ﬂ(iifyi
EIRF IR | R R AR BR BRI ST (IR ) EREH | MV | BR%S |PER214:8H3LH 10:40|F5 204] 68 E 3.2 1,005
2H H |ERL214E9H 1H 10:00 M 289 63| ENE 35
3H H |ERL214E9H 2 H 10:00 M 285 62| NE 43
4H H [ER2149A3H 10:00|iN 26.2| 79| NNE| 2.7
5HH |WER214E9H 4 H 10:00|iN 26.1| 81| NE 39
6H H |ER214E9H5 H 10:00 M 286 69| NE 4.7
7HH |ER214E9H 6 H 10:00 M 288 70| NE 55
T |ER214E9H 7TH 10:21|= 282 68| NE 4.0
LV-1| B#s [FRk214E8 H31H 10:25|1% 29.4] 68| E 3.2 0.140
T |19 1A 10:27 W 289 63| ENE 35
LV-2| Bi4s |*FRk214-9H 1H 10:33 (1% 289 63| ENE 35 0.140
T |ER21I4E9H 2H 10:25| i 285 62 NE 4.3
LV-3| Bi%s |*FRk214-9H2H 10:43 |5 285 62| NE 43 0.139
T | ER214E9 A 3H 10:23 |’ 26.2| 79| NNE 2.7
IR RS RREREE ¥ — (EIRET) IERZH | HV-1| BRdg |FFR214°9H 28 H 9:04|H& 30.4] 64 NNE 25 1,009
T |ER214E9 H 29 H 9:04|= 27.7| 76| NNE 3.1
HV-2 | BR%s [FE214F9H 29 H 9:46|% 281 78] N 0.5 1,008
T [FER214E9H30H 9:46|= 27.1] 77| NNE 2.0
HV-3| Bitg |*F-ak214F9H 30 H 10:30 (i 28.7| 71| calm - 1,008
W% |FER214E10 A 1H 10:30|= 273| 72| NNW| 24
LV-1| B#s [FRk214E9H 28 A 9:15(iF 30.4] 64 NNE| 25 0.142
T |ER214E9H 29 H 9:15|= 27.7| 76| NNE 3.1
LV-2| B4 |FE214E9H 29 H 9:50|%= 281 78] N 05 0.142
T [ER21429H30H 9:50|= 27.1]  77[ NNE 2.0
LV-3| BA#s [ FE214F9H 30 H 10:33 (i 28.7| 71| calm - 0.142
T [FER214E10H 1H 10:33|= 273| 72[NNW| 24
PRRE SR ([EEER) IR [HV-1| BAsG [FRK214E9H7H 12:23 (W5 31.3] 60 NNW| 56 1,008
T |ERi214E9H 8 H 12:23 | 305/ 62| NE 36
HV-2 | BRiE [FR214F9H 8H 13:00|i% 309 63| NNE| 29 1,008
ST |ER21I4E9H9H 13:00| i 304| 60/ NNW| 3.7
HV-3| BRiE [FR214F9H9H 13:26 |5 30.4| 60| NNW| 3.7 1,008
T |ERi214E9H 10H 13:26|IF 30.7| 70| sw 2.3
LV-1| Bi4g |*FRk2149H7H 12:38 (1% 31.3] 60| NNW| 5.6 0.139
w“wT | 2149 H 8 H 12:38 | 305/ 62| NE 36
LV-2| Bitg |*FRk214-9H 8H 13:05|i% 309 63| NNE| 29 0.139
T |ER215E9H9H 13:05| & 30.4| 60| NNW| 3.7
LV-3| Bi%s |*FRk214-9H9H 13:07 |1 30.4| 60[ NNW| 3.7 0.140
T |ERi214E9H 10H 13:07|0& 30.7| 70| sw 2.3
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SRR T =4 U v 7 i R S RS
~ A _ _ /::J;]z]ll :HE N =45 %
i R BB | mmean | % T | (b S
AevE B TITE (EEET) FEMH [HV-1| BIgh [FAK21411 716 H 16:23 44 82 w 4.6 991
T | ERk21E11 8 17 H 16:00 38| 70|WNW| 26
HV-2| BAs [FE214E11A 17 H 16:26 36/ 70|WNW| 3.0 997
T |ERk21411H 18 H 16:10 11| 67| WNW| 6.2
HV-3| BA#s [FRk214-11 A 18 H 16:20 1.0 67| WNW| 5.4 986
%7 |PERG214E11H 19H 16:00 15[ 88 Nw 1.9
LV-1| B4 [FE214F11A 16 H 16:23 44| 89 w 4.6 0.155
T | ER214E11 B 17 H 16:25 36 71| Nw 1.7
LV-2| B4 [FE214F11A 17H 16:28 36/ 70|WNW| 3.0 0.159
%7 |SERG214E11H 18 H 16:24 | 1.0 67|WNw| 54
LV-3| B4 [FE214F11 A 18 H 16:26 1.0/ 68| WNW| 5.1 0.156
%7 |PERG21I4E11H 19H 15:54 1.8 87 Nw 15
FLISE T ) | HV-1| Bis PRI ITH 14:00 51| 59 NNw| 1.6] 1,000
T |ERk214E11H 18 H 14:00 43 56| NNW| 5.0
HV-2| BA#s [FEk214F11 A 18 H 14:00 |5 43 56| NNW | 5.0 985
T | ERk214E11 8 19 H 14:00| %= 36/ 65/ NNW| 31
HV-3| BA#s [FR214-11 A 19H 14:00 36 65/ NNW| 31 1,000
T | ER214E11 8 20 H 14:00 13| 63 NNW| 3.6
LV-1| B#s [FE214F11A 17 H 14:00 51 59 NNW| 16 0.152
T |ERk21411 8 18 H 14:00 W 43 56| NNW| 5.0
LV-2| B4 [FE214F11 A 18 H 14:00 43 56| NNW | 5.0 0.152
T | ERk214E11 8 19 H 14:00 36/ 65/ NNW| 31
LV-3| Bass [ER214E11 A 19 R 14:00|% 36/ 65/ NNW| 31 0.154
T | ERi214E11 8 20 H 14:00(55 13| 63 NNW| 3.6
EFR [WEAXT—8 (FLH) FEBW [ HV-1| BAkG |[FAK21411H16H 11:50| 5 14] 87] S 1.9 1,008
T |ERk214E11 8 17 H 11:50(%5 0.0 99| NNW| 009
HV-2| BAs [FE214F11A 17H 12:42|5% 05 99| NNE | 17 1,008
T | ERk214E11 8 18 H 12:42|55 02| 68/wsw| 31
HV-3| BA4s [ FEk214-11 A 18 H 13:41|5% .12 85| wWsw| 4.4 1,008
T | ERi214E11 8 19 H 13:41|55 52| 50| ESE 16
LV-1| B4 [FE214F11 A 16 H 12:00|5% 14| 87 S 1.9 0.140
T B2l 11 8 17 H 12:00(%55 0.0/ 99| NNW| 009
LV-2| B4 [FE214F11A 17H 12:09|5% 0.0/ 99| NNW| 009 0.141
T | ERk214E11H 18 H 12:14|%5 28| 58/ Wsw| 5.0
LV-3| B4 | FEk214F-11 A 18 H 12:53| 5 11| 78lwsw| 3.1 0.142
%7 |TERG214E11H 19H 12:53|% 52| 50| NE 1.6
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% j‘ﬂ(ffgfyi
EWR |ERIRAREERE R ¥ — (lETH) EHW | MV | BRSE |PERK21FE12A TH 11:48 (K& 91] 471 w 6.8 976
2H B |¥Rk21412H8H 9:43|% 7.1 51|WNw| 28
3H B [FRk21412H9H 9:29 M 47| 64/ NNW| 0.9
40 H |*ERk214212 510 H 9:32 M 46| 56/ NNW | 4.4
5HH |"ERk214E12H 11 H 8:55|4% 52| 78 NNW | 24
6H H |"ERk214E12H 12 H
7H H |"ERk214E12H 13 H
%7 |ERG214E12H 141 11:48|= 57| 62| ESE 1.8
LV-1| B4 [FR214E12 A7 H 9:32|M5 76] 52| W 3.7 0.157
T |SER214E12 H 8 H 9:32|= 6.6| 50| wsw| 438
LV-2| BA#s [FE214E12 A8 H 9:42|%& 6.6 50/ WSw| 48 0.158
%7 |SERG214E12H9H 9:42 | 6.1 61| w 2.3
LV-3| Bt [FEk214E12 A 9H 9:48|M5 6.1 61| W 2.3 0.156
T | ERk214E12 5 10 H 9:48|fiif 75| 61| NNW| 28
Ky | KRR R ER T ¥ — (L) LW | MV | BRSG |PERK21F11H6H 10:00 |F& 170 71 S 1.1 1,027
2H B [ER21411ATH 9:00|H& 155/ 98| N 0.7
3H B [¥Rk21411H8H 10:00| = 18.6] 95/ NNE| 009
4H B |*FR214E11 91 12:00|H 220 72| sw 1.4
5HH |"ERk214E11H 10H 10:00| = 183| 88 S 1.3
6H H |"ERk214E11H 11 H 10:00(iN 18.4| 100 E 2.7
7HH |"ERk214E11H 12 H 10:00| = 13.0/ 80| NE 5.6
%7 |ERG214E11H 131 10:00|= 11.7| 96| NNE 41
LV-1| B4 [FEk214F11 A 10H 10:00] %% 183 88 S 13 0.144
T |ERk214E11 8 11 10:00|iN 18.4| 100 E 2.7
LV-2| BR#s |FR214E11H 11H 10:00(rH 18.4| 100 E 2.7 0.146
%7 |SERG21I4E11H 12 1 10:00|= 13.0{ 80| NE 5.6
LV-3| BA4s [FE214F11A 12 H 10:00|% 13.0] 80| NE 5.6 0.151
%7 |ERG214E11H 131 10:00|= 11.7| 96| NNE 41
FER IR BRI A AEBREEAN SR T (RIAGT) EmHW | MV | BRRG |PERK214FE11H 27H 9:38|f#E 134 62 W 1.4 1,007
2H H |"ERk214E11H 28 H 10:00 | i 155| 40/ Nw 5.2
30 H |"ERk214E11H 29 H 10:00 M 94| 48] sw 0.7
40 H |*ERk214511H 30 H 10:00| = 9.2 64| WNW| 1.4
5H B [FRk21412H 1R 10:00 | etiE 10.9] 58| ESE 1.4
6H B [FRk21412H2H 10:00 | i 11.6] 48|wNw| 31
7H B [¥Rk21412H3H 10:00 (= 8.8 61| Nw 31
T O |TERG214E12H 4 9:30|E 12.3| 53| NNW| 37
LV-1| B#s [FEk214E12 A 1H 9:35| PRI 10.9] 58] ESE 1.4 0.150
T |ERi215E12H 2 9:05| P 89 55|WNw| 38
LV-2| Bt [FE214E12H2H 9:07 | 89| 55/WNW| 38 0.153
T |SER214E12H 3H 9:48|= 8.8| 61| NW 3.1
LV-3| BA#s | FEk214E12 A 3H 9:50|%= 8.8 61| NwW 31 0.145
T |ERi215E12H 40 9:30|fiif 12.3] B3| NNW| 37
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SRR T =4 U v 7 i R S P
A Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
FIER  |HRERR—EEEERKEER (TR FEMH [HV-1| BIgh [TFA21411H17H 10:06[i[N SR R &% | B 999
%7 |SERG214E11H 18 H 9:56|= 10.3]  94N,NNW 3.0
HV-2| BAs [FE214-11 A 18 H 10:12| = S| el RS | e 1,001
%7 |PERG214E11H 19H 10:02|= 87| 77| NE 1.9
HV-3| BA#s [FR214-11 A 19H 10:11 % S| e R | e 1,001
T | SER214E11H 20 A 10:01|F 7.7] 93| NNE| 1.9
LV-1| B4 [FEE214F11A 17 H 10:06 [/ S| R % | ER) 0.141
%7 |SERG214E11H 18 H 9:56|= 10.3|  94N,NNW 3.0
LV-2| B4 [FE214F11 A 18 H 10:12| = S| e RS | e 0.142
T |PERG214E11H 19H 10:02|= 87| 77| NE 1.9
LV-3| B4 [FE214F11 A 19H 10:11 % S| SEH R | e 0.142
#T | FRR214E11 20 H 10:01|F 770 93 NNE| 19
R |RRHEBRER AT (LIRX) FEHH | MV | B |PERK21FE12H9H 10:02|= 11.6] 49 NNw]| 1.8 1,008
2H H |"ERk214E12H 10H 9:53 |l 17.3| 61| ENE 2.8
30 H |"ERk214E12H 11 H 10:03(/ 8.4 81| NNW| 38
40 H |*ERk214E12 812 H 10:00 M 155 75| NNW | 32
5HH |"ERk214E12H 13 H 10:00 M 11.4] 38 NNW| 40
6H H |"ERk214E12H 14 H 10:00| = 89| 47| NNE| 17
7HH |"ERk214E12H 15H 10:05|%= 9.7 42|NNW| 1.0
W% T |TERG214E12H 16 H 10:05|= 84| 56| NNE 1.4
LV-1| Bass [PFR218E12A9H 10:03| %= 11.6] 49| NNW| 1.8 0.153
T | ERk214E12 510 H 9:50 |l 17.3| 61| ENE 2.8
LV-2| B4 |FE214-12 A 10H 9:52(I& 17.3| 61| ENE 2.8 0.152
T | ERR214E12 111 10:02|F 84/ 81 NNW| 38
LV-3| B4 [FE214F12 A 11H 10:03(r 8.4 81| NNW| 38 0.143
T |21 12 B 12 H 10:00| & 155 75 NNW | 32
TN RA I EHH | MV | B |PERRLIFE11LA27H 9:58(= 216/ 83|wNw| 21 1,008
2H H |"ERk214E11H 28 H 10:03|/ 22.8| 96| ENE 0.8
30 H |"ERk214E11H 29 H 9:52|% 229 91| ENE 3.9
40 H |*ERk214-11 530 H 10:07|F 223 93| NE 2.1
5H B [FRk21412H 1R 9:56|4% 231 91| NE 21
6H B [FRk21412H2H 9:58|fl 215 96| ENE 31
7H B |¥Rk21412H3H 9:53|% 249 96| ssw | 2.9
T |ER214E12 A 4H 9:55(= 217 91| wsw| 1.7
LV-1| Bass [FER218E11A27H 10:00| %= 216 83[wNw| 2.1 0.148
T |YERk214E11H 28 H 9:58 (N 22.8| 96| ENE | 0.8
LV-2| B4 [FE214F-11 A 28 H 10:07|r 22.8| 96| ENE 0.8 0.147
T |PERG214E11H 29 H 9:55|= 229| 91| ENE 39
LV-3| B4 [FE214F11 A 29H 10:00|% 229| 91| ENE 3.9 0.146
%7 |ERG214E11H 30 H 9:54|/ 22.3| 93| NE 2.1
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SERRUEE T =2 Y o 7 AR BUE ) KA
A V=3=! YA {F N - R=N
IR R BB | mmean | % T | s | S
MR S| BEER %Y ¥ — (CEEM) FE I [HV-1| Biss [FA21411H9H 10:00(1 192 63| NNE| 07 1,008
T | ERk214E11 8 10 H 10:00| & 195/ 63| NE 1.4
HV-2| BA#s [FE214-11 A 10H 10:00| i 195 63| NE 1.4 1,008
%7 |PERG214E11H 11H 10:00|/ 16.2| 95 N 0.8
HV-3| BA4s [FE214F11 A 11H 10:10|/ 162 95| N 0.8 1,008
%7 |PERG1IE1LH 12 H 10:10|= 135 85| ENE 1.9
LV-1| B4 [FE214E11A9H 10:00| & 192 63| NNE| 07 0.140
T [ER214E11 A 10H 10:00 M 195/ 63| NE 1.4
LV-2| B4 [FE214F11 A 10H 10:00| i 195 63| NE 1.4 0.139
T O|PERG214E11H 11H 10:00|/N 16.2 95| N 0.8
LV-3| B4 [FE214F11A 11H 10:00|[Y 162 95| N 0.8 0.138
%7 |PERGLIAE1LH 121 10:00|= 135 85| ENE 1.9
MEm  (BUERMERBER ST (i) EmHH | MV | B |PERK21IFE11H 13 9:50| & % [ 1122 71 N 5.7 1,007
2H B [Fk214£11H 14H BT 211] 82| SW 9.4
30 H |"ERk214E11H 15H fii 19.3| 48| sw 6.7
40 H |"ERk2142118 16 H o= 148| 371 N 2.1
5HH |"ERk214E11H17H ] 95 78/ NNW| 35
6H B ['FAk21411H 18 H s — I 11.8| 49| NNE 41
7HH |"ERk214E11H 19H MR 2 & 77 62| N 3.7
%7 |SERG214E11H 20H 9:50 (M 14 — = 125/ 53| NNE 2.2
LV-1| B4 [FE214F11A 17 H 9:45([y 95 78/NNW| 35 0.148
W% |SERG214E11H 18 H 9:35 M —HFz 11.8| 49| NNE 41
LV-2| B4 | FE214-11 A 18 H 9:43 M — 11.8] 49| NNE| 41 0.149
%7 |PERG214E11H 19 H 9:34|FRFRF 2 = 771 62 N 37
LV-3| B4 [FE214F11 A 19H 9:40 | [ e 2 22 77 62| N 3.7 0.151
%7 |SERG214E11H 20H 9:35|M5 1% —IF= 125/ 53| NNE 2.2
g [RIL—EERRAER B EBW | HV-1| Bk |FA21F12H7H 10:30| 2% 82| 54 W 6.0 979
T |ER214E12 A8H 10:14|= 83| 61| S 2.3
HV-2| Bits |*F-ak214-12 H8H 10:36|4% 87 62| S 2.3 978
W% [ER214E12A9H 10:13 (K& 110 55/ S 2.3
HV-3| Bits |*Fak214F12 H9H 10:25 |1 110/ 55/ S 2.3 976
T | ER214E12 510 H 10:00| & 8.8| 62| ENE 2.9
LV-1| B#s [FR214E12 A7 H 10:30| %= 82| 54 W 6.0 0.149
T |ER214E12 A8H 10:05|= 83| 61| S 2.3
LV-2| B4 |FEk214E12 A8 H 10:08|% 87| 62| s 2.3 0.153
T [ER214E12 A 9H 10:10 (K& 110 55/ S 2.3
LV-3| B [ FE214E12 A 9H 10:26|iE 11.0] 55 s 2.3 0.149
T | ERi214E12 510 H 10:02| & 8.8 62| ENE 2.9
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SRR T =4 U v 7 i R S P
Hi 5 B | k| L - SR | i JEE | KRB
{&ﬁéﬁi ﬁﬁﬁim)f—i H%E,ﬂ;ﬁ %75‘ T\?KEAX BKHR{:E‘H Ei H%EZIJ f{% (oc) (%) E\l‘ﬁlﬂ (m/S) (m3)
IR [k — R RER @) FEBW [ HV-1| BAkG |[FAK21411 ] 24H 10:04 |44 102] 76| NNE| 14 1,016
T |ERk214E11H 25 H 9:30| 14 I 135 84| w 0.7
HV-2| Bass [ER214E11 A 25 10:02| 214 I 134 84| w 0.7 1,025
%7 |SERG214E11H 26 H 9:31 |5 17.4| 53| S 1.6
HV-3| B4 [FR214-11 A 26 H 10:04 |1 1771 51| S 16 1,040
T |ER214E118 27 H 9:30| =MHF~ I 16.1] 60/ WNW| 1.1
LV-1| B4 [FE214F11A 24 H 10:12|H5 %2 102 76| NNE| 14 0.149
W% |SERG214E11H 25 H 10:07 | =12 135 84| W 0.7
LV-2| Bass [ER214E11 A 25 R 10:14 |24 13.4| 84| W 0.7 0.147
T | ERk214E11H 26 H 10:09| & 174 53| S 16
LV-3| Bk |*FAk214F11H 26 H 10:14|i 1771 51| S 16 0.147
T |ER214E118 27 H 10:00| = HF ~ i 16.1| 60/ WNW| 1.1
HINE a PR EEEY % — (&Rh) FEMH [HV-1| Bsh [FAK214:11H30H 9:40(1% 12.0[ 62| ENE 2.0 1,008
T |ERi215E12H 1 9:40| i 13.4| 59| ssw | 1.0
HV-2| BA#s [ FRk214F12 A 1H 10:05 i 134 59/ ssw| 10 1,008
T |ERi215E12 H 2 10:05| & 155| 49| sw 1.0
HV-3| BA#s [FE214E12 A2 H 10:25 i 155| 49| sw 1.0 1,008
T |ERi21412H 310 10:25|= 11.8| 62| SE 2.0
LV-1| B4 [FE214F11 A 30H 9:55(IF 12.0[ 62| ENE 2.0 0.151
T |ERi215E12H 1H 9:55| fif 13.4| 59/ Ssw | 1.0
LV-2| BAts [ FE214E12 A 1H 10:00 (/% 134 59/ ssw| 10 0.150
T |ERi215E12H 20 10:00| & 155| 49| sw 1.0
LV-3| B4 | FEk214E12H2H 10:10|i% 155| 49| sw 1.0 0.149
T |ERi21412H 30 10:10|= 11.8| 62| SE 2.0
(LA I BhEm|Em) FERH [HV-1| Bish [TFAK21411H 24 11:30|= SR R % | RS 950
%7 |SERG214E11H 25 H 11:20|= 6.8| 92| NNE 15
HV-2| BA#s [FE214E11 A 25H 11:35|% | | &% | R 938
T |ERk214E11H 26 H 11:15|I& 70 90| NNE| 1.3
HV-3| BA#s [ FE214E-11 A 26 H 11:30| | | B4 | R 948
BT | SER2L4E1LH 27 B 11:15|1F 73| 76| S 1.8
LV-1| B4 [FEE214E11 A 24 H 11:30| %= | B &% | % 0.136
%7 |SERG214E11H 25 H 11:20|= 6.8| 92| NNE 15
LV-2| Bt |*F-Rk214F11H 25 H 11:35|% RA7S] IA7S] 8= A AT 0.134
T |ERk214E11H 26 H 11:15|1& 70 90| NNE| 1.3
LV-3| Bt |*F-Ak214F11H 26 H 11:30| % | | &% | R 0.135
&7 |SER2LE1LH 27 B 11:15|1F 73| 76| S 1.8
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR R BB | mmean | % T | s | S
EFIR | EHIRERERSMET (BE¥FH) EHH | MV | B |PER21FE11H30H 9:30(|= 6.6] 81] ssw 1.9 1,009
2H B |'FRk214E12 H 1H 9:30 (Mg —FFz: 6.7 81| WSwW| 23
30 B |'FRk214E12H 2 H 9:40 | PRfFE 40| 84 SSE | 15
4H H |PEk21412H 31 9:40|% —F [N 54/ 19| S 0.8
5H B [FRk214E£12 H 4 H 9:40| Wtk 6.5 82|Wsw| 11
6H B [FRk21412H5H 10:00| = 85 65/ WSW| 5.9
7HH |FER214E12H6 H 10:00|= 41| 93] S 04
ST |ER214E12ATH 9:30| & 45| 81| E 15
LV-1| B4 [FEk214F11A30H 9:50| & 6.6/ 80[ SSW| 109 0.145
T [ER214E12 A LH 9:50(|= 6.7 79| wsw| 23
LV-2| BA#s [FE214E12 A 1H 9:53| & 6.7 79| wsw| 23 0.146
T |YERi215E12H 2 9:53| [k H 40| 87| SSE 15
LV-3| BA#s [FE214E12 A 2H 9:55 | Pl 40| 87| SSE 15 0.146
% |ER214E12 A3H 9:55|= 42| 87| S 0.8
M7 B IR iy B IR AR BR BRI 20 T (55 ) FEH [HV-1| Bsh [FAK21411 716 H 9:40| 2 14.9] 50| SSW 2.3 1,005
T | ERk21E11 B 17 H 9:40|f 9.4 91| WNW]| 3.4
HV-2| BA#s [FE214F11A 17 H 9:45|[y 9.4 91|WNW| 3.4 1,008
T |ERk21411H 18 H 9:45|fiif 108| 61 W 4.4
HV-3| BA#s [FE214F-11 A 18 H 10:15|i 112 s7[wsw| 46 1,008
W% T |ERG214E11H 19H 10:15|= 11.7| 47| NNE 2.3
LV-1| B4 [FE214F11A 16 H 9:45|%& 149] 50l ssw| 23 0.149
T | ERk21E11 B 17 H 9:45|f 9.4 91|WNW| 3.4
LV-2| BA4s [ FE214F11 A 17H 9:48| [y 9.4 91|WNW| 3.4 0.149
T |ERk21411H 18 H 9:48|fiif 108| 61 W 4.4
LV-3| B4 [FE214F11 A 18 H 9:51|I& 108 61 w 4.4 0.150
%7 |PERG21I4E11H 19H 9:51|= 10.0{ 49| NE 2.0
AR | TRERYERAR (4 & ET) EmHH | MV | B |PERK21FE12H 151 10:59 | —IF G 6.8] 58] Nw 33 1,006
2H H |"ERk214E12H 16 H T 6.4 66| WNW| 34
3H B [FERk21412H17H s — I 52| 46| W 3.8
40 H |*ERk214-12 5 18 H fii 3.7 40|WNW| 423
5H B [FERk21412H 19 H M2 B — R 2.8 59 WNWwW| 3.0
6H H |ERk214E12H 20 H fii 43| 43| w 2.3
7HH |"ERk214E12H 21 H fii 41 56| NNW| 4.0
%7 |TERG214E12H 22 1 10:32 K5 —Rp= 43| 58/ NNW| 1.8
LV-1| B4 [FE214E12 A 15H 11:07| = — Wi 7.0 64] NW 2.8 0.148
W% |SERG214E12 H 16 H 10:18|%= —IFhiG 57| 60| WNW| 4.0
LV-2| B4 [FE214-12 A 16 H 10:24 | =4 57 60[WNW| 4.0 0.150
%7 |SERG214E12H 1T H 10:28 (K& 46| 39| W 3.6
LV-3| B4 [FE214F12 A 17H 10:36 | i —Hr iz 46| 39 w 3.6 0.135
&7 |SER214E12 H 18 F 10:12|0& 57 37|WNwW]| 6.0
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SRR T =4 U v 7 i R S RS
57 Y=N=| YE [{E N =t =
i R BB | mmean | % T | s | S
=ER | ZERAMEBREVZEST (BT FEMH [HV-1| BIgh [FA21412 14 10:07 | P& 136] 56| N 1.4 1,008
W% |SERG214E12 H 151 10:05 (K& 64 62| N 15
HV-2| BA#s [FE214-12 A 15H 10:25 i 82| 62| N 0.9 1,013
%7 |SERG214E12 H 16 H 10:30|= 59| 70| N 2.0
HV-3| Bass [ER214E12 A 16 H 10:45|% 6.1 68 N 2.0 1,010
BT |SER21E12H 17 B 10:45| I 5.6 43| Wsw| 4.9
LV-1| B4 [FE214F12 A 14H 10:05| & 136 56| N 1.4 0.148
W% |SERG214E12 H 151 10:05 (K& 64| 62| N 15
LV-2| B4 [FE214-12 A 15H 10:10|5 72| 62| N 15 0.149
%7 |SERG214E12 H 16 H 10:10|= 59| 72| N 1.6
LV-3| B [ER214E12 416 F 10:10|% 59| 72| N 16 0.149
BT | ER21E12H 17 B 10:10 (W& 55 44| wWsw| 3.9
FCARN | CERE ST RS AR (SR i) FEBW [ HV-1| BAkG |[FAK2141214H 14:11 |15 78] 70] NwW 2.2 1,004
W% |SERG214E12 H 151 14:05|= 72| 77| W 1.8
HV-2| Bass [ER214£12 A 15 R 14:38| %= 72| 77| W 18 1,002
T |SERG214E12 H 16 H 14:30| 40! 68 W 2.9
HV-3| B4 [FR214-12 A 16 H 15:02 i 40 68 W 2.9 1,008
%7 |PERG1IE12H 1TH 15:02| 7
LV-1| B4 [FE214E12 A 14H 14:31|1 78] 70 Nw 2.2 0.150
W% |SERG214E12 H 151 14:31|= 72| 77| W 1.8
LV-2| B [ER214£12 A 150 14:42| % 72| 77| W 18 0.151
T |SERG214E12 H 16 H 14:43 (K& 40! 68 W 2.9
LV-3| B4 [ FE21412 A 16 H 15:00 (i 40 68 W 2.9 0.154
%7 |PERG1E12H 1TH 15:13 (K5
KIRHF | KRIRIFERBE MK EER G WFTERT  (KBRTH) W HV-1| Bk | FA21F12H7H 10:35(1% 95| 57| NW 2.1 988
T |ERi214E12H 8H 10:07 |H 10.5| 56| ENE 1.2
HV-2| BA#s [ FRk214E12 A 8 H 10:41 i 105/ 56| ENE 1.2 995
ST |ER214E12 A9H 10:22| & 10.4| 64| SW 1.2
HV-3| BA#s [ FR214E12 A9 H 10:54 1% 10.4| 64| sSw 1.2 978
BT | ER214E12H 10 H 10:11 |0 11.1] 73| NE 16
LV-1| B [FRk214E12A7H 10:10(1% 95 57| Nw 2.1 0.144
T |ERi214E12H8H 10:10|H5 10.5| 56| ENE 1.2
LV-2| B4 [ FEk214E12 A 8 H 10:15 |1 105/ 56| ENE 1.2 0.142
T |ER214E12 A9H 10:00| i 10.4| 64| SW 1.2
LV-3| BA#s | FEk214E12 A 9H 10:05 i 10.4| 64| sSw 1.2 0.144
&7 |SER2112H 10 A 10:10|M& 11.1] 73| NE 16
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SRR T =4 U v 7 i R S P
57 Y=N=| YE [{E N =t =
i A BB | mmean | R - ‘”(E%/% A (kan% “(fffyi
LR [ REREEF e v ¥ — (FF ) FEMH [HV-1| BIgh [FAK21411 716 H 9:57| = —HFiy 12.8] 53[WNwW]| 34 1,008
T |PERG21I4E11LH 1TH 9:57|rN 95| 86| E 24
HV-2| BAs [ FE214F11A 17 H 10:15(r 95| 86| E 24 1,008
%7 |SERG214E11H 18 H 10:15| & 13.3| 60] sSw 39
HV-3| BA#s [FRk214-11 A 18 H 10:22 i 13.2| 60 sw 39 1,008
BT | SER214E11H 19 F 10:22| & 144 73| E 2.6
LV-1| B4 [FE214E12 A 15H 17:33| % 86| 62 W 2.8 0.143
T | ERk214E12 5 16 H 17:27 W 76| 53] Nw 35
LV-2| B4 [FE214F-12 A 16 H 17:31 (1% 76| 53] Nw 35 0.135
T | ERk214E12 B 17 H 16:01 (& 46| 52| wsw| 53
LV-3| B4 [FE214F12 A 17H 16:05 I 46 s52[wsw| 5.3 0.146
T |ERk214E12 5 18 H 16:24 | = 64| 38wsw| 81
MET ([BE - MEREXRKMER (AT FEM W | HV-1| BRAG [FR214F11H9H 10:52[ 2 19.8] 65| ENE 1.3 1,004
%7 |SERG214E11H 10H 10:50(/NF9 195 68| E 2.1
HV-2| BA#s [FE214E11 A 10H 11:07|/Nfly 196| 69| E 1.8 998
%7 O|ERG21I4E11H 11H 10:58| i 18.3| 90| calm 0.2
HV-3| BA#s [FR214F11 A 11H 11:08 |5 19.1] 81| N 2.6 1,014
BT | SER21E11H 12 A 11:00|= 20.3| 55| sw 0.8
LV-1| B#s [FRk214E11H9H 10:50| %= 19.8] 65| ENE 13 0.144
%7 |SERG214E11H 10H 10:50(/NF9 195 68| E 2.1
LV-2| B4 [FE214F11 A 10H 11:07|/Nfly 196| 69| E 1.8 0.144
T | ERk21E11 8 11 10:58| & 18.3| 90| calm 0.2
LV-3| B4 [FE214F11 A 11H 11:08 (1% 19.1] 81| N 2.6 0.144
BT | SER21E11H 12 A 11:00|= 20.3| 55| sw 0.8
mEE [RE—RERERRENE CRE) B HV-1| Bk |[FA21F11H9H 10:16|H5 158 84 N 0.9 1,008
T |ERk214E11 10 H 10:16 (M5 19.1] 71| Nw 05
HV-2| BA#s [FE214F11 A 10H 10:34 |15 19.1] 71| Nw 0.5 1,008
T |PERG214E11H 11H 10:34|=—KF[N 16.3| 96| N 17
HV-3| Bass [ER214E11 A 11 R 11:12| & —Wrly 165 96| Nw 0.9 1,008
BT |SER2LE11LH 12 A 11:12|= 142 64 NNE| 20
LV-1| BA#s [FRk214E11H9H 10:22|i 158 84| N 0.9 0.146
T |ERk214E11 10 H 10:37|M& 19.1] 71 Nw 0.5
LV-2| B4 [FE214F11 A 10H 10:40 |15 19.1] 71| Nw 0.5 0.148
T |PERG21I4E11H 11H 11:13|=—KF[lN 165 96| NW 0.9
LV-3| Bass [ER214E11 A 11 R 11:17 | — ey 165 96| Nw 0.9 0.144
BT |SER2LFE1LH 12 A 11:18|= 142 64| NNE| 20
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SERRUEE T =2 U v 7 AR S P
57 Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/% A (kan% j‘ﬂ(ffgfyi
BRI |EREEIEEERERT (BRI o BHT) FEM W | HV-1| BRAG [FR214F12H 1H 13:35[F 124 72 N 5.9 964
T |ERi215E12H 21 12:33 | 147 48/ ssw| 25
HV-2| BA#s [ FE214E12 A2 H 13:03|i% 16.3] 46| S 15 964
%7 |SERG214E12H 3H 12:00|/1N/iY 101 73| W 2.7
HV-3| BA#s [FE214E12 A 3H 12:26|/ 104 67| wNw| 1.8 963
T |SERG21E12H4H 11:24|= 10.4| 53| NNE 5.3
LV-1| BA#gs [FRk214E12 A 1A 13:40(1 124 72 N 5.9 0.140
T |SERG214E12H 2 H 12:35 (K& 14.7| 48| SSW 25
LV-2| Bt | FE214E12 A 2H 13:03 | 16.3] 46| S 15 0.138
%7 |SER214E12H 3H 11:58|/INfiY 101 73| W 2.7
LV-3| BA#s [FE214E12 A 3H 12:26|/ 104 67| wNw| 1.8 0.139
“T |SERG1E12H 4 11:23|= 10.4| 53| NNE 5.3
T JRETSLERFP R (R ET) FEM W | HV-1| BRAG [FR214F11H 16 H 9:56| %= 11.0| 48/ NNE| 3.8 1,008
T | ER21E11 8 17 H 9:56(/ 56/ 81| NNE| 51
HV-2| BAs [FE214E11A 17H 10:19(/ 56/ 81| NNE| 51 1,008
T |ERk214E11 8 18 H 10:19|I& 99 50| SE 0.9
HV-3| B4 [FE214-11 A 18 H 10:30 |1 99 50| SE 0.9 1,008
%7 |PERG21I4E11H 19H 10:30|= 10.0 59| NNE 2.5
LV-1| BR#s [ERk214E11H 16 H 10:00| %= 11.0] 48| NNE| 38 0.144
T |ER21E11 B 17 B 9:57|r 56/ 81| NNE| 51
LV-2| B4 [ FE214F11A 17H 10:04(r 56/ 81| NNE| 51 0.144
T |ERk214E11H 18 H 10:05| & 99 50| SE 0.9
LV-3| B4 | FE214-11 A 18 H 10:09 i 99 50| SE 0.9 0.144
%7 |PERG214E11H 19H 10:09|= 10.0 59| NNE 2.5
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SERRUEE T =2 Y o 7 AR BUE ) KA
5 BRI | | - SR | B JEOE | RRERIE
N wei | g | RO | BRIUEAH i ) | o) ms)| o)
Wo R L REREREE ¥ — (L) EHW | MV | BRSE |PERK21FE12A TH 10:00 K& 59] 67 0.7 1,008
2H B [¥Rk21412H8H 10:00| & 6.8 63 0.6
3H H |FER214E12H9H 10:00|= 75| 76 04
40 H |*ER214212 510 H 10:00|iN 94| 89 0.1
5HH |"ERk214E12H 11 H 10:00| = 13.1] 96 1.0
6H H |"ERk214E12H 12 H 10:00 M 147 74 0.9
7HH |"ERk214E12H 13 H 10:00 (= 10.2| 79 1.3
%7 |TER214E12 H 14 H 10:00 |F5 96| 75 0.7
LV-1| B [FEk214E12 A7 H 10:00(/% 59| 67 0.7 0.143
“%T |ER214E12 A8H 10:00 |F5 6.8| 63 0.6
LV-2| B4 [FE214E12 A8 H 10:00|/ 6.8 63 0.6 0.146
T [ER214E12A9H 10:00|= 75| 76 0.4
LV-3| Bitg |*FRk214-12H9H 10:00|% 75| 76 0.4 0.145
%7 | TER214E12 H 10 H 10:00( 94| 89 -
TP LS ST () EHW | MV | BRAG |TERkK21F12H 8 H 11:00 K5 123 49 35 1,008
2H H |FER214E12 H9H 11:00|= 91| 75 2.5
30 H |"ERk214E12H 10H 11:00|iN 10.8] 90 1.0
40 H |FER21412 511 H 11:00| = 159| 80 25
5HH |"ERk214E12H 12 H 11:00| %= 14.4] 76 21
6H H |"ERk214E12H 13 H 11:00| %= 122| 64 0.1
7HH |"ERk214E12H 14 H 11:00 (M5 13.0] 45 36
%7 |SERG214E12 H 151 11:00|= 99| 55 1.4
LV-1| B#s [FRk214E12 A8 H 11:00(1% 12.3] 49 35 0.144
T [ER214E12A9H 11:00|= 91| 75 25
LV-2| BA#s [FE214E12 A 9H 11:00|% 91| 75 25 0.144
%7 |SERG214E12 H 10 H 11:00|/ 108 90 1.0
LV-3| B4 [FE214-12 A 10H 11:00(r 108/ 90 1.0 0.143
%7 |ERG214E12H 11H 11:00|= 159 80 2.5
Tl R 1 AW [HV-1| B4s |FER214E11A 16H 9:19|= 126] 51 4.3 1,007
%7 |PERGLIE1LH 1TH 9:19| RN 74| 86 5.3
HV-2| BA#s [FE214F11A 17 H 9:57|F 7.4 86 5.3 1,007
%7 |SERG214E11H 18 H 9:57 | 102 51 5.9
HV-3| B4 [FEk214F11 A 18 H 10:31 | 11.3] 43 5.8 1,007
W% T |ERG214E11H 19H 10:31|= 105 67 46
LV-1| B4 [FE214F11A 16 H 9:19|= 126] 51 4.3 0.149
T |PERG214E11LH 1TH 9:19|rN 74| 86 5.3
LV-2| B4 [FE214F11A 17 H 9:57|y 74| 86 5.3 0.150
%7 |SERG214E11H 18 H 9:57 | 102 51 5.9
LV-3| B4 [FE214F11 A 18 H 10:31 |1 11.3] 43 5.8 0.150
%7 |ERG214E11H 19H 10:31|= 105 67 46
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SERRUEE T =2 Y o 7 AR BUE ) KA
V=DI=! N=Wi:d iy 2
A B g | mmemEne | wa o Ty | vices
)1 I (B T) MV | BE%G [FRk214-11H25H 11:14| = K5~ i 14.0[ 81 NNW 1,034
2H H |"ERk214E11H 26 H i 124 69| SSE
3H B |*EE21F11H 27H i — ke 128| 78| SSE
4H H [FR214E11H 28 H = 132] 69| N
5H B [FERK21411H 29 H M= 94| 69| SSE
6H B [FFRk21411H30H s — I 11.3| 70| SSE
7H B [ER21412H 1R i 11.1] 70| SsE
T |ERi214E12H 2 11:14 W5 11.0| 73| SSE
LV-1| B4 [FEk214E11 A 25H 11:13| =0~ i 14.0] 81| wWsSw 0.147
T | ERk214E11H 26 H 11:16 | Rrg 124 69| S
LV-2| B4 [FE214E11 A 27H 11:05| i —IHr iz 128 78] s 0.146
T |SERG214E11H 28 H 11:09|= 13.2| 69| N
LV-3| B4 [FE214F-11 A 28 H 11:10|% 132 69| N 0.146
%7 |TERG214E11H 29 H 11:13|HE5 R = 94| 69| S
Cef AR - FINRSIR G KK — v (Eke MV | BE%G [FRk214-11H25H 10:18| =5 ~ i 14.0[ 81| wsw 1,038
) ) 2H B [FERk21411H 26 H PR 124 69| S
30 B [FERk21411H27H s — I 128 78 S
4H B |*FR214£11 A 28 H o= 132 69| N
5H B [FEA21411H 29 H 1% = 94| 69 S
6HH |"ERk214E11H30H g — 113 70| s
7H B [ER21412H 1R i 111 70|l s
T |FER214E12 A2 H 10:18 (K& 110 73| S
LV-1| B4 [FEk214E11 A 25H 10:15| =/ ~ i 14.0] 81| wWsSw 0.149
T | ERk214E11H 26 H 10:21 i 124 69| s
LV-2| Bk [FE214F-11 A 26 H 10:25| e 124 69| s 0.148
T |PERG214E1LH 27 H 10:27 |H5—Re= 128 78| S
LV-3| B4 [FE214F11 A 27H 10:30 | i — Hr iz 128 78] s 0.147
W% T |ERG214E11H 28 H 10:28|= 132| 69| N
F W TR (TR HV-1| Bi#g [Fk214F12 14 H 11:26[W% 163] 47 N 1,008
T [ER214E12 A 15H 11:26 i 10.2] 50| NE
HV-2| BR#s |FRk214E12H 15H 11:49|i% 11.7] 44| NE 1,008
%7 |SER214E12H 16 H 11:49 (K& 89| 64| NE
HV-3| BA#s [ FEk214F12 A 16 H 12:02 |1 89| 64| NNW 1,008
%7 |PERG214E12H 1T H 12:02 K& 6.0 74| NNwW
LV-1| B4 [FE214F12 A 14H 11:20(1% 163 47| N 0.142
T | ERk214E12 A 15 H 11:24 W5 10.2| 50| NE
LV-2| B4 [FE214-12 A 15H 11:50 |1 11.7| 44| NE 0.143
%7 |SERG214E12H 16 H 12:04 K& 9.2| 55| NNW
LV-3| B4 [FE214F12 A 16 H 12:13 (i 9.2 55[ NNW 0.142
%7 |SERG21E12H 17T H 12:20 K& 6.2| 68| NNW

69




SRR T =4 U v 7 i R S P
N 57 _ _ /:‘:Ell :‘/E N =t %
i A BB | mmean | R o “(Eﬁ/g A (kan% “(fffy
wh L k| ORBET) FEM W | HV-1| BRAG [FR214F12H 7H 10:36|IF 80 65/WNN]| 1.0 1,008
T |ER214E12 A8H 10:36 (K& 70| 71| NNW| 11
HV-2| BR#s | FEk214E12 A8 H 10:50 |15 70/ 71/ NNW]| 11 1,008
T [ER214E12 A 9H 10:50|= 9.0/ 82[NNW| 08
HV-3| Bass [ER214E12 90 11:29|% 9.0/ 82[NNW| 08 1,008
&7 | SER214E12H 10 H 11:29|/ 120/ 99| w 0.6
LV-1| B#gs [FR214E12 A 7H 10:45|1 8.0/ 65/WNN| 10 0.153
T |ER214E12 A8H 10:45 (K& 70| 71| NNW| 11
LV-2| BA#s |FEk214E12 A8 H 10:55 i 70/ 71/ NNW]| 11 0.151
T [ER214E12A9H 10:55|= 9.0| 82[NNW| 08
LV-3| B [*ER214E12 90 11:17|%= 9.0/ 82[NNW| 08 0.150
&7 | SER214E12H 10 H 11:17|/ 120/ 99| w 0.6
TR (EEREEY 2 — (EBEH) EHH | MV | B |PERR21IFE11A10H 10:02|F 20.1] 79| ENE 6.3 1,008
2H H |"ERk214E11H 11 H 10:02|= 180 75| NNE| 96
30 H |"ERk214E11H 12 H 10:02 |H 158/ 53| NE 9.6
40 H |*ERk2142118 13 H 10:02|iN 147 99| NNE | 41
5HH |"ERk214E11H 14 H 10:02 |H 19.9] 66/ Nw 7.0
6H H |"ERk214E11H 15H 10:02| = 127 61 w 3.3
7HH |"ERk214E11H 16 H 10:02| = 120 49 NNW| 29
%7 P11 1TH 10:02|= 85| 84| NE 6.5
LV-1| B4 [FE214F11 A 10H 10:00[FH 20.1] 79| ENE 6.3 0.141
T |ERG21I4E11H 11H 10:00|= 18.0 75| NNE 9.6
LVv-2| Bass [ER214E11 A 11 R 10:03|%= 180 75| NNE| 96 0.151
RT |SER21E11H 12 A 10:03| & 158| 53| NE 9.6
LV-3| B4 [FE214F11A 12 H 10:06 i 158| 54| NE 9.6 0.147
T | ER214E11 A 13H 10:06|FH 152 99 NNE | 41
REARE  [REARRIREIREER AAFZEET (i) FEAM [HV-1| BI4g |ER21412 B 14 H 10:29 |1 134] 67| NNE| 06 1,058
T |ERk214E12 A 15 H 10:29 |H 99 65| Nw 2.0
HV-2| Bass [ER214£12 A 15 R 11:35|% 99| 65/ NNW| 24 1,008
T | ERk214E12 5 16 H 11:35|= 9.0/ 55/ N 24
HV-3| BA#s [FE214-12 A 16 H 12:30|%= 85 56/ NNW| 38 1,008
%7 |PERG1E12H 1TH 12:30|= 79| 58| NE 0.8
LV-1| B4 [FEk214E12 A 14H 10:29 (1% 134 67| NNE| 06 0.151
T |ERk214E12 515 H 10:29 W 99 65| Nw 2.0
LV-2| Bass [ER214£12 A 150 11:35|% 99| 65/ NNW| 24 0.151
T | ERk214E12 5 16 H 11:35|%= 9.0/ 55| N 24
LV-3| B4 [FE214F-12 A 16 H 12:30|%= 85 56/ NNW| 38 0.153
T | ER214E12 B 17 H 12:30|= 79| 58] NE 0.8
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SERRUEE T =2 Y o 7 AR BUE ) KA
A Y=N=| YE [{E N =t =
IR A BB | mmean | R - ‘”(E%/Ef A (kan% ﬂ(iifyi
EIR IR | R R AR BREEAT ST (IR ) EHH | MV | B |PERRLIFELLALTH 10:31 |/ 11.4] 90| NNW]| 14 997
2H H |"ERk214E11H 18 H 10:00 M 11.1] 44| wNw| 40
30 H |"ERk214E11H 19H 10:00 M 122 62| wNw| 32
40 H |*ERk214511 8 20 H 10:00| = 112 76| wNw| 1.8
5HH |"ERk214E11H 21 H 10:00| = 11.0] 66| wsw| 1.7
6H H |"ERk214E11H 22 H 10:00| = 11.1]  s2|wNw| 40
7HH |"ERk214E11H 23 H 10:00 M 11.4| 84| W 2.0
T | ERi214E11H 24 H 10:17|/ 10.0] 95| WNW| 3.6
LV-1| B4 [FE214F11A 17 H 10:20(’ 11.4] 9| NNW| 14 0.153
T |ERk214E11H 18 H 10:15 W 11.1] 44| wNw| 40
LV-2| BA#s [FE214-11 A 18 H 10:22 i 11.1] 44| wNw| 40 0.152
T |PERG214E11H 19 H 10:00| i 122 62|WNw| 3.2
LV-3| B4 [FE214F11 A 19H 10:05 |5 122 62| wNw| 3.2 0.156
%7 |ERG214E11H 20H 10:09|= 11.2| 76/ WNw| 1.8
Rl IR | B R R 2 — (BIRET) B [ HV-1| BAkG |[FAK214£11H30H 9:21|% 16.5] 60 N 0.7 1,008
W% |ER14E12 A LH 9:21|iE 16.9| 60| calm -
HV-2| Bt |*Fak214F12 H1H 10:22 |5 186 56| N 11 1,008
W% [ER214E12 A 2H 10:22| & 185/ 61| NNE 6.8
HV-3| Bt |*F-ak214F12H2H 11:12|i5 20.7| 57| NE 1.0 1,008
% |FER214E12 A3H 11:12|= 192 53| E 0.5
LV-1| B4 [FE214F11 A 30H 9:31|= 165 60| N 0.7 0.148
T |ER14E12 A LH 9:31|iE 16.9| 60| calm -
LV-2| B4 [ FE214E12 A 1H 10:26 I 186| 56| N 11 0.146
T [ER14E12 A 2H 10:26 | 185/ 61| NNE 6.8
LV-3| BA#s [FE214E12H2H 11:15|i5 20.7| 57| NE 1.0 0.145
T |FER214E12 A3H 11:15|= 192 53| E 0.5
PR AR ([EEER) W [ HV-1| BAkG |[FAK214E11H24H 12:00( % 269] 74 s 4.8 1,008
T |ERk214E11H 25 H 12:00 (W 243| 69| NNE | 6.2
HV-2| BR#s |FR214E11H 25 H 12:29 15 243| 69| NNE | 6.2 1,008
%7 |SERG214E11H 26 H 12:29| 23.6| 57[ NNE 35
HV-3| BA4s [FE214F11 A 26 H 12:52 5 236| 57| NNE| 35 1,008
T |PERGLAELLH 27 H 12:52|= 252| 61 E 39
LV-1| B4 [FE214E11 A 24 H 12:08| %= 269 74| S 4.8 0.143
T |ERk214E11H 25 F 12:08 | 243| 69| NNE | 6.2
LV-2| B4 [FEE214F11 A 25H 12:14 |1 243| 69| NNE | 6.2 0.145
T |ERk214E11 8 26 H 12:14|0E 236| 57| NNE| 35
LV-3| BA#s |FR214E11H 26 H 12:17|0% 236| 57| NNE| 35 0.144
%7 |SERG21IAELLH 27 H 12:17|= 252| 61 E 39
W) REFESO TH] EINAARY 2 =LA77 —ICL0REESNZZ %, W) EZI RVRY a—2xT7H o7 I -2 RSz e %, LV iTe—R

Ja—bxz7H 77 —CLVERBMENTZI 2 ThENEKT D,
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